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title(sprintf (
axis(l.1*[-A A
Plot (real (z), it
hold

€L, CLrI;
clear;
v=.01;
£=100;
£s8=5000;
t=0:1/£fs:.03;
x=8in(2*pi*f*t);
r=sqrt (v) *randn(1, length(t)) ;
Xw=x+r;

n=3:length (Xw),
v(n)=sum(Xw(n-2:n))/3;

h=(1/3)*[1 1 1]
Liyure(4)

plot (y);
hold;

figure(5)
plot (y1)
hold;

plot (Xw, )
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MatlabReviewl_diary.txt

1. Basic Math Convert angles
Angle Dlang is 90.000 degrees or 1.571 radians

Hit a key
Angle Rlrad is 2.475 radians or 141.79@ degrees

Hit a keyComplex NumbersComplex Numbers 0+j*1 - Polar
Magnitude rhoex is 1.000 and angle is 1.571 rad

Hit a key- See Compass Plot Hit a key
2. Complex Numbers

zlarg = 3.1416
z2exp = 0.7071 + e.7071i
z2argpi = 0.2500
z2 = 0.7071 + 0.7071i
z3 = 0.5000 + 0.86601
z3arg = 1.0472

z3argpi = ©.3333
xvec = -1.0000 0.7071 ©.5000
yvec = 0 0.7071 ©.8660
3 Magnitude

zZ3mag = S

z3mag2 = §
4, Addition
X1 = 0.5000
yl = 0.8660
X2 = -1
y2 = 1.2246e-16

zaddex = -0.5000 + 0.86601
thetazaddex = 2.0944
rhozaddex = 1

Problems
X4 1 = 1.0000
y4_ 1 = 1
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H
=
(]
[
[
(S

x4 12

y4_12

1]
]
=

zadd4_1 = 2.0000
thetaz4_ 1 = o

rhozd_1 = 2.0000

x4_2 = -1,5576
y4_2 = 6.8245
X4_22 = 0.7116

y4_22 = -4,9491

zadd4_2 = -9.8461 + 1.8754i
thetaz4 2 = 11,9946

rhoz4 2 = 2.0574

Ts = 0.1250

h = 0.3333 0.3333 0.3333

Current plot held
Current plot held
diary off
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